
DO NOT OPEN THIS BÌOKLET UNTIL YOU ARE ASKED TO DO S0 

INSTRUCTIONS 

QUESTION BOOKLET 
Time allotted: 1 hour 

Full marks: 100 

All questions carry equal marks. 

1. This booklet consists of 24 pages including this front page. Verify the page number of the Question Booklet on each page. If there is any discrepancy, bring it to the notice of the 
Invigilator. This Booklet contains questions in 2 languages: Bengali and Nepali. 

2. Answers will have to be given in the special answer sheet (OMR Answer Sheet) supplied for the purpose, which consists of two pages. Do not tear or separate any leaf of the OMR Answer 
Sheet. 

3. Before you proceed to mark on the Answer Sheet 
in response to various items in the Question 
Booklet, you have to fill in some particulars in 
the OMR Sheet. You must also write the Question 
Booklet No. on the Attendance Sheet. Do not 
fold the Answer Sheet as this will result in 
error in your marks. 

4. All questions have four probable answers (A), 
(B), (C) and (D). Find out which of the four 
answers appears to you to be correct or the best. 
Now darken the circle corresponding to the letter 
of the selected answer in the OMR Answer Sheet 
with Black Ball Point Pen as per instructions 
sent along with the Admit Card and the OMR 
Sheet. 

5. Ifmore than one circle is encoded for aparticular 
answer, it will be treated as wrong answer. 

28075 

6. Vath of the allotted marks (i.e. 0.25) will be 
deducted for each wrong answer. 

7. There are blank pages at the begining and end of 
this booklet for Rough Work. 

8. The OMR Answer Sheet (both pages intact) 
should be handed over to the Invigilator before 
leaving the Examination Hal. Candidates are 
then permitted to leave the hall with the 
Question Booklet. The special answer sheet 
(OMR) is the property of the West Bengal 
Police Recruitment Board and must be 

returned to the Invigilator. 
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Question Rooklet Serial No. 

(B), (C) 4AR (D) T AI GÍoF 

(a ) DgY0NEA 

SE 



(A) 

(B) yÓN 
(C) sy 
(D) fa 

(A) TH 

(B) 
(C) et 
(D) § 

2. 53 |6 MEDITERRANEAN 

(A) DINNER 
(B) MEDIATE 
(C) READER 

(D) ARRANGE 

(A) DINNER 
(B) MEDIATE 

(C) READER 
(D) ARRANGE 

(B) tU YSQAG|G ARF 
(C) T513 9$ 

(A) 3o at, 3K. 3Hrase 
(B) GAEIT E 
(C) alejIR faE 

3,' 

(D) RGTK qrITTS Y 

(3) 

4, g*ft ofA0A 6 GMGIA G(average) 437 

furt? 

(A) 24 

5. 

(B) 28 
(C) 26 
(D) 30 

yA yraRa 6 HGYA 3THT (average) 3r 

(A) 24 

(B) 28 
(C) 26 
(D) 30 

Ì 0REO* oN 524 TA Leaf is 

green', 351 AA 'Green and blue' 4R 438 At 
R0 atst 'Sky is blue' oLeaf 8 is' 

? 

(A) 2 qR 4 
(B) 2 4R 1 

(C) 4 qR 8 

(D) 2 qR 8 
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Leaf is 
green', 351 4c'Green and blue' f 438 YAa 
'Sky is blue' Leaf 3f is i HA 

(A) 2 3afA 4 

ST YATH 4f 524'4 

(B) 2 fA1 
(C) 4 3tfA8 

Leaf 

(D) 2 3fM8 

(Please Turn Over] 
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7. 

(A) GAUDCeA 
(B) RDafyz1 
(C) aRtCSN 
(D) RStCsN 

(A) 4 
(B) Adfg 
(C) IEA 
(D) T5sH 

90 

7 

(A) 378 
(B) 368 

3 

(C) 210 

(D) 388 

(B) 7 

(D) 3 
(C) 11 

(D) 3 

8 

8. a + 2b = 5,a' + 4b² = 13 ab =? 

(A) 2 atb 

(B) 7 

(C) 11 

149 2 

9 

10 

6 

a+ 2b =5,a'+ 4b = 13 (then) ab =? 

(A) 2 

9 

(4) 

AtoA Sa (downstream) GaIotfo 10 qb3 150 

(A) 30 
(B) 24 

10. 

(C) 28 
(D) 20 

frer yH IS Tfã 10 km/hr 3| S34 
(downstream) H| TIST 10 0HT 150 km A 

T af u g? 
(A) 30 
(B) 24 

(C) 28 
(D) 20 

(A) 

(B) 

(C) 

(D) 

5 

16 

16 

11 

16 

7 

16 

(90° P0) foa9 3? 

4 8 16 

(A) 21 G ATS 

(B) 21 

1 

O 

(C) 21 fYI 

(D) 21 C S 

HT (90°) fabu f8? 
(A) 21st H 

(B) 21st 4r 
(C) 21st fseHa 

(D) 21st g 

=? 



20% PG QR 10% AUS 9,900 bo Q 

(A) 10,500 
(B) 12,500 
(C) 15,200 
(D) 11,500 

ye | 3f-HY 10% a¢Rs. 9,900 yiaferea 

(A) 10,500 
(B) 12,500 
(C) 15,200 
(D) 11,500 

(A) 1905 
(B) 1907 
(C) 1908 
(D) 1906 

(A) 1905 
(B) 1907 
(C) 1908 
(D) 1906 

(Aj 
(B) G 
(C) X 
(D) H 

C,G, L, R, Y, ? 
(A) K 
(B) G 

R 

(C) X 
(D) H 

(5) 

15. 80 (Simplification) | A A8 

b+c a+b 

(a-b)(c -a) (a-b)(b-c) (c- a)(b-c) 

(A) 1 
(B) 2 

17. 

(C) -1 
(D) 0 

ery Tg a (Simplification) : 

(A) 1 
(B) 2 

b+c 

(a-b)(c -a) (a-b)(b-c) (c-a)(b-c) 

(C) -1 

(D) 0 

(A) 2700 

(B) 5400 

16. A, B qR C I0S::Co AA 
RAA JA0S A 11,700 Diej PAA, B 

(C) 3000 

(D) 3600 

(A) 2700 

(B) 5400 
(C) 3000 
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(D) 3600 

A, BICÀ AIF To::g-IHI 

C+a 

(A) 13 
(B) 11 

C+a 

(C) 13-27 

a+b 

(D) 12 

8:73x8-73x 873 + 4-27 x 4-27x4-27 
8-73x873�873x 4-27 +4-27x4-27 

I 4 

=? 

(Please Turn Over] 
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(A) Q 
(B) S 
(C) T 
(D) R 

(A) Q 
(B) S 
(C) T 
(D) R 

(A) 1526 
(B) 1564 

(C) 1761 
(D) 1556 

(A) 1526 
(B) 1564 
(C) 1761 
(D) 1556 

(A) 100 

(B) 85 

(C) 80 
(D) 90 

(A) 100 

(B) 85 

(C) 80 

(D) 90 

(6) 

(A) AtRA 
(B) 2 

(C) ARAIE 
(D) BGA0o 

(A) {GA 
(B) Hy 

(C) HERE 

(D) JH 

22. 324 x 150 = 54, 251 × 402 = 48 qR 

735 x 866 =? 523 x 246 = 120 
(A) 200 
(B) 180 
(C) 320 
(D) 300 

324 × 150 = 54, 251 x 402 = 48 
523 x 246 = 120 a À 735 x 866 =? 

(A) 200 
(B) 180 
(C) 320 
(D) 300 

(A) 1947 
(B) 1971 
(C) 1990 
(D) 1962 

(A) 1947 
(B) 197i 
(C) 1990 
(D) 1962 



25. 

(A) CA 
(B) aIA0 AIÍDAG 
(C) 2N af 

(D) ( CbF 

(A) H1YT TR 
(B) yfeA Ht 

(D) 

(A) 

(A) A 
(B) C 

(C) D 
(D) B 

(A) q 
(B) (\8 

26. (Breathing Root) atcoa AA GgT 

(C) gTAI 
(D) sta 

(B) 

(Breathing Root) ? 
(A) y«t 
(B) 

(C) 

(C) Yi Efig 
(D) iRA 

(D), 

(7) 

27. atN M oifRA AA G, 

(A) p0 

(B) 9got o 
(C) A 
(D) tas y 

(A) hhl 

(B) a BT 
(C) HHI 

(D) H41àt ÜI 

AL, CO, ER, GU, ? 
(A) JY 

(B) IY 
(C) JX 
(D) IX 
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AL, CO, ER, GU, ? 
(A) JY 
(B) IY 
(C) JX 
(D) IX 

(B) oTA 

(C) o9AG 
(D) 

(B) TAR 
(A) afrR g 

(C) aer 
(D) a 

2 

([Please Turn Over] 
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(A) a3 

679 

(B) G qtf 
(C) 
(D) it 

(A) fr 
(B) 3R 34fRcT 
(C) <f TARAT 
(D) fAl 

31. 13435223 34 1567462325725 
679 

(A) 3 
(B) 5 
(C) 6 
(D) 4 

qtcaf 

(A) 3 

13435 223341567462325725 

(B) 5 
(C) 6 
(D) 4 

(8) 

? 
<a (Solidification) 

rea (Vaporization) 
(C) qgH (Condensation) 

(A) 
(B) 

(D) fs (Regelation) 
I4(Pressure) fyqK54i-SAI9(Pressure) 

(A) Hefsant7 (Solidification) 
(B) MEH7 (Vaporization) 
(C) 131H7 (Condensation) 
(D) H (Regelation) 

(B) 34 
(C) 47 

(D) 23 

2,7, 13, 23, 34, 47 
(A) 13 
(B) 34 
(C) 47 
(D) 23 

(A) a 
(B) RR 
(C) 4 

(D) 

(A) T 
(B) fH 

(C) HE 

(D) Y 



35. A 

B9303 93 A S R|F FSB, 22 frc 

(A) 10 
(B) 15 
(C) 18 

(D) 12 

(A) 10 
(B) 15 
(C) 18 
(D) 12 

(A) ytagMat 
(B) faAeD 
(C) f6 

(D) fpAA 

(A) TTHI^Z 
(B) fer4^e 
(C) fe 

(D) fagfrEI 

2 

(9) 

(A) aif1 
(B) fazI 
(C) aRGA 
(D) oA3 

(A) GItay 

(B) IfAfqi 
(C) I�TÍfI 

(D) 

aa_ aaa_aa a aa a b 

(A) bbabaa 
(B) bbaabb 

(C) aabbab 
(D) bbabba 
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aa_aaa_aa_a_aa_a_b 
(A) bbabaa 
(B) bbaabb 
(C) aabbab 
(D) bbabba 

[Please Turn Over] 
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39. qQ61 S (fraction) ®o ? 

7 13 31 63 

8' 16' 40' 80 

(A) 

(B) 

(C) 

(D) 

(A) 

(B) 

(C) 

7 

(D) 

31 

40 

7 13 31 63 

(A) 

63 

8' 16' 40 80 

80 

13 

16 

7 

31 

40 

63 

80 

13 

16 

40. (otA 4 qe? 

(B) t 
(C) aRo 
(D) aT 

o 

(A) THTfa 
(B) g4-á 

(C) gufza 
(D) TSI 

( 10 ) 

(A) � 22 
(B) - 14 
(C) 14 

(D) 22 

2<4>3+32=8=2:+3>4<2 Hr4 afT ? 
(A) � 22 
(B) - 14 
(C) 14 
(D) 22 

42. 5 2 AB B-4A 3AS So (ratio) 

(A) 30 

(B) 40 

(C) 25 

(D) 35 

5 q fAABAGt 3441G (ratio) 6:7 

(A) 30 

(B) 40 

(C) 25 
(D) 35 



A3. 8a'- (pb) = (2a - 36) (4a + 6ab + 9h2 
Ap=? 

(A) 2 

(B) 4 

(C) 5 

(D) 3 

&a-(pb) = (2a- 36) (4a + 6ab + 96) 
4 (then)p=? 

(A) 2 

(B) 4 
(C) 5 

(D) 3 

44. 2*4*9 = 41681, 3*5*7 = 92549 R 

8*5*6= 642536 A 9*7*3 =? 
(A) 71499 
(B) 81449 
(C) 71449 

(D) 81499 

2*4*9 = 41681, 3*5*7 = 92549 3 
8*5*6= 642536 À 9*7*3=? 

(A) 71499 
(B) 81449 
(C) 71449 
(D) 81499 

(A) GrIR 
(B) YGO 

(C) S93 
(D) Aa 

(A) 3EYg 
(B) cus 
(C) T4g 
(D) qR 

(11 ) 

(A) (1R 
(B) AGRG 

(E) wgAI0A 
(D) o0 

(A) hrIH 

(B) fcT 
(C) Yegffr4 
(D) rHI 

47. A B-4A 5 (average) 3300 biolI B 

(A) 2800 
(B) 2900 
(C) 2700 
(D) 3000 

ATB A4a (average) 4 Rs. 3300, 
BICÂRS.3000 arf A TCâ s0TT (average) 4 
Rs. 2700 sI0A GHt HT 3 afã sëut s? 

(A) 2800 
(B) 2900 
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(C) 2700 
(D) 3000 

48. tc5 OHG gG fAG (writ) 3? 
(A) afW 6 

(C) ifbGatfa 
(D) yta 

(A) tH AIÁH 

(C) Hfesrr 
(D) HSI4H 

[Please Turn Over] 
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(A) 15 
(B) 20 
(C) 21 
(D) 17 

HI�GCTHI HAR S HetaE 34- 41HI 50 km 

5 km/hr 6 km/hr s Y, 3 U yfs ftiz | afd 

km gé gts? 
(A) 15 
(B) 20 

(C) 21 
(D) 17 

(A) PNO, 
(B) PSNO, 
(C) SNO, 
(D) KNO, 

(A) PNO, 
(B) PSNO, 
(C) SNO, 
(D) KNO, 

(12 ) 

(A) 62 
(B) 26 

(C) 43 

(D) 34 

(A) 62 
(B) 26 

(C) 43 
(D) 34 

(A) (R 

(B) GAÌ 

(C) A (97 
(D) o 

(A) hell4 

(B) y1 
(C) Gt �i 

(D) 4 



RA 2560 

SA AA (IA 1105 bp| GsQ, P. 320 Dt 

(A) 4280 
(B) 4820 
(C) 4028 
(D) 2840 

Rs. 2560 7 Rs. 2000 
Rs. 1105 5 4 TP 

Rs. 320 rTIR 
(A) 4280 
(B) 4820 
(C) 4028 
(D) 2840 

f� 

(A) fARDIA 

(A) frget 
(B) 4H 

(B) 1A 
(C) BR(TRyTIAII 

(C) IEYNcHH 
(D) RISS 

(A) RIAbr 

IH0 R| q 3H 
314F I51 0geà 6yHT 
4yí 

(B) 1g fo# 

(C) (atotoB (A 

(A) fafyG YT 
(B) aTeR fArea 

(C) reIpu ige 

B2 

( 13 ) 

56. Af:tafs:1:? 
(A) af 
(B) 9At 
(C) aA 
(D) qift 

fufafrt: TÀfA :: :? 
(A) I 
(B) gTY 
(C) fre 
(D) Afhe 

(A) G 
(B) D 

(C) yAZ 
(D) ao| 

(A) fRTHCI 
(B) hcah 

(C) yatvgR 
(D) CTHIGI 

58. O = 12, MOM = 40 4R FAN = 60 G 
HAND =? 

(A) 61 
(B) 81 

(C) 91 

(D) 71 
O= 12, MOM = 40 34f FAN= 60 Ì a 

4 HAND =? 
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(A) 61 

(B) 81 

(C) 91 
(D) 71 

(Please Turn Over] 
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(A) i 
(B) g 

(C) Paaf 
(D) 

(A) 1 
(B) 3A 

(C) feri 
(D) gal 

64 25 

31 

36 T144 

(A) 43 

(B) 53 
(C) 34 

(D) 35 

(A) fDIA-A 
(B) f9-D 
(C) fooi-K 
(D) fobi-C 

(A) fr-A 
(B) fire¬-D 

(C) frerf-K 
(D) fMf¬-C 

81 

36 

361T 25 

49 169 

81 T36 

(14 ) 

62. OT| F SAIA HORSE ( 37185 

(A) 15869103 
(B) 15869104 
(C) 15859104 

(D) 15859103 

3/T HT44I HOR`E CIS 37185, CHAIR IS 039413f REPORT GI` 152716 t 

(A) 15869103 
(B) 15869104 
(C) 15859104 
(D) 15859103 

63. yO4 Oat ? 

(05)2, Vo49,o008,0-23 
(A) (05)? 
(B) Voo08 
(C) 023 
(D) Vo-49 

(0-5, Vo49,No008, 0-23 
(A) (0-5)2 
(B) 

HoRSE CHAIR 
24185 O3141 

RSPOR T 

Vo008 
(C) 023 
(D) Vo49 

CHAIR F 03941l qR REPORT 5 152716 atg 



(A) Gg 

(B) 
(C) f 
(D) p 

(A) 3R 

(B) Td 
(C) rA 
(D) fy 

(A) 36, 14 

(B) 45, 5 

(C) 40, 10 

(D) 35, 15 

(A) 36, 14 

(B) 45, 5 

(C) 40, 10 
(D) 35, 15 

(15 ) 

(A) GI 
(B) ofo% 

(C) oINRIy 
(D) Gya 

34afty s? 
(A) oII 
(B) fea 

(D) 3fsYI 

(A) 
(B) TN 
(C) 
(D) Ì 

(A) aE 

(B) gat 

(D) t 

(A) a 
(B) AAeA 

(C) agefs 
(D) 

(A) g4-t 
(B) 9ET 
(C) Tafd 
(D) iR 
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69. qt t 1 Bi 50 stt A AD 52 16 

Tc|DM GIK WAto (ratio) 3:52, (P 

(A) 12, 40 

(B) 24, 28 

(C) 16, 26 

(D) 20, 32 

(ratio) 3:5 a fafy yARaI hfq fgHlEE 

(A) 12, 40 

(B) 24, 28 

(C) 16, 26 
(D) 20, 32 

ItsPGi q[o j4qt (perfect square) R0 A? 
(A) 39 
(B) 9 

(C) 29 
(D) 49 

TR QJI qufart (perfect square) �S? 
(A) 39 

(B) 9 
(C) 29 

(D) 49 

(16 ) 

A. AGAIsa (Appointment letter) 
B. 
C. 
D. 

Gts (Income) 

E. {yA (Education) 

(A) ECDAB 
(B) ECDBA 
(C) EABCD 

(Examination) 

(D) EDCAB 

A. frgf 4a (Appointment letter) 
B. 314< (Income) 

C. tT (Examination) 

D. I4 (Application) 
E. RrT (Education) 

(A) ECDAB 
(B) ECDBA 
(C) EABCD 

(D) EDCAB 

(A) aAN 
(B) qâ 

(D) â 

(Application) 

(A) weTH 
(B) 37e4t 
(C) ûco 

(D) JE4-�t 



(A) 

(B) 

(C) ga 

(A) tt 
(B) 
(C) sffei 
(D) 1c 

74. 6466849 41 4y1 (square root) f443 P 8 
(A) 2643 
(B) 2623 
(C) 2743 
(D) 2543 

6466849 y (square root) Vrl Isg 

(A) 2643 
(B) 2623 
(C) 2743 

(D) 2543 

(17) 

75. Go 9R a303 207 G# S| AG 

D9x CF 3 (Remainder) 1? 
(A) 12 

(B) 17 
(C) 15 

(D) 20 

3 afa (Remainder) 3? 
(A) 12 
(B) 17 

(C) 15 
(D) 20 

76. 1550 DeI G yÍ9G PGA 5% 4R 8% 

(A) 800, 750 

(B) 850, 700 
(C) 1000, 550 
(D) 900, 650 

Rs. 1550 g YMAIfAfA TÜ S%T8% A 
GHI H R3I3 q Ys Rs. 300 

(A) 800, 750 
(B) 850, 700 
(C) 1000, 550 
(D) 900, 650 

(A) G 

(B) 4 
(C) (Tf 
(D) a 
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(A) It 
(B) ¿f 

(C) yet 
(D) fi 

(interest) 

(Please Turn Over] 
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? 

(A) QoaCÍA 
(B) a 
(C) 
(D) 4 

(B) TacÉT 
(C) v0 
(D) faáa 

79. A, B8CfobaGai gG CO05 18 fACG 

(A) 30 
(B) 24 
(C) 32 
(D) 36 

A, B Ca YEYt 18 fHe4 As 44 

24 fr9e4IA B GRI T YRT | afT f4HT C 

(A) 30 
(B) 24 
(C) 32 
(D) 36 

(18 ) 

80. bG (2A, B, C, D 4RE(IG NAR 

(A) A B 

(B) E D 

(C) A B E 
(D) B 8 D 

yfzs ersE A, B, C, D fA E, 

(A) A 3fA B 
(B) E 3fD 
(C) A 34fME 
(D) B fD 

81. 3ft (5A0A S 26 (R(S GAID yoy 2900 DiI 

(A) 300 
(B) 1500 
(C) 1300 
(D) 1000 

3 pefiT 22Ail eiy Rs. 2900 i44t 
73 }aciat ye4 Rs. 4200 I s3 247 s3 

(A) 300 
(B) 1500 
(C) 1300 
(D) 1000 

(B) beAEtTN 
(C) GG 
(D) bee 

(A) faHIqT YCI 
(B) 3Y 
(C) yys HVT 
(D) 3IEUS 



(A) GfGI 

(B) (I 

(C) $91 

(D) ta 

(A) sg 

(B) G1 
(C) it 
(D) Hi 

84. A, B, C, DE 5 4 AKI A, B 4 RAF 
io fE 4s (A GT|C, B 4 (RF 

(A) A 
(B) C 
(C) D 
(D) E 

A, B, C, D, E Yey HI0EE EIA, B 4 
YGe RE 4I 3rl 3IC, B 4a 3Ì SID,B 

(A) A 
(B) C 
(C) D 
(D) E 

85. faggo fEGA fG g (Face) 16? 

(A) 3 
(B) 5 

(C) 6 
(D) 4 
faruy fy afaa yaga (Face) 3? 

(A) 3 

|D, B 

(B) 5 
(C) 6 
(D) 4 

(19 ) 

86. 1 + 2+3 +... + 10 = 3025 4+32 + 

108 +... + 4000=? 
(A) 12000 
(B) 11200 

(C) 12400 

(D) 12100 

13+23 + 3 + ... + 10° = 3025 (then) 
4+32 + 108 + ... + 4000 =? 

(A) 12000 

(B) 11200 

(C) 12400 
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(D) 12100 

(A) G9F-ofs 
(B) b 

(D) 9-54 

(A) 3R yfgt 

(B) 3 d 
(C) fy y 
(D) f YfH 

[Please Turn Over] 
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88. G RU3 . (HCF) S AA.9 (LCM)-4 

? 

(A) 3 

(B) 6 
(C) 8 

(D) 4 

VH0 (LCM) TUHC 24 TIÉG HEICI� YT 

(A) 3 
(B) 6 

(C) 8 

(D) 4 

(B) SPs 

(D) IA S 

(A) 
(B) 

3ICGH J4 

S ISY 

(20 ) 

(C) cis rt 

20% ats 47 MTib 10% 00 fr 

(A) 1200 
(B) 1800 
(C) 2400 
(D) 1500 

Rs. 4000 4T ISIST feh vfs, SIIS 20, 

(A) 1200 
(B) 1800 
(C) 2400 
(D) 1500 

185 

(A) 370 

(B) 276 

(C) 436 

(D) 376 

90 

759 

43 

4 

20 



? 

(A) S 
(B) 

(C) aggt 
(D) b 

(A) aI 
(B) YeTA 

(C) 2e 
(D) g 

(A) 60 
(B) 62 
(C) 65 
(D) 58 

(A) 60 

(B) 62 
(C) 65 
(D) 58 

94. Ge0 SR POLICE DF GAKJON 

(A) VGQPTY 
(B) PTYGVQ 
(C) YPGPTV 

(D) VÌGPTY 

41414 POLICE GAKJON IG 

(A) VGQPTY 
(B) PTYGVQ 
(C) YPGPTV 
(D) VQGPTY 

POLIC E 

ARRS T 

(21 ) 

95. gfo fAIbaIMA (Natural Selection 
Theory) qG F? 

(A) NYG 

(B) UAI# 
(C) FGDa 

9IsafTeA y fMslA (Natural Selection 
Theory) yI 

(A) tug 
(B) TH 

RB/LCIWBP(Prelim)/2023 

(C) e4 
(D) 

fers? 

H sfd 

(A) efop (Reflection) 
(B) stA 4epa| (Total Internal 

Reflection) 

(B) ri 

(C) fg (Diffraction) 
(D) ef9 (Refraction) 

(A) ufafara (Reflection) 
fA Hfafq-a (Total Internal 

Reflection) 
(C) faat& (Diffraction) 
(D) 44c (Refraction) 

[Please Turn Over] 
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4,919.39, 49, 99, ?, 
(A) 109 
(B) 149 
(C) 179 
(D) 199 

4,9, 19, 39, 49, 99, ? 

(A) 109 
(B) 149 

(C) 179 
(D) 199 

(A) R9R A9Af 
(B) CAA0R UII 

(C) G21G ARF 

(D) Gab 01 

(B) gize di 
(C) aTECIlT 36 
(D) 3AH qTqIZ 

(22 ) 

(A) G t 

(B) oI0A R 

(D) 14R 

(A) H qua 
(B) FaR HE 

(C) T HIRg 

(D) I as 

100. (IA D k 6% (simple 

interest) 3 23 7|a4 (Principal + Interest) 

3540 bR0 R, 7 (interest) Po D A? 

(A) 450 

(B) 580 
(C) 640 
(D) 540 

(A) 450 

6% HTERU| |GH(simple interest) (e6H 

3 qH Rs. 3540 4e (Principal + Interest) 44 *td 

ptai G (interest) 3? 

(B) 580 

(C) 640 

PxR 

(D) 540 

35 403 
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